Phone: 08150 - 282232

283423

THE NATIONAL EDUCATION SOCIETY OF KARNATAKA (REG.), BASAVANAGUDI, BANGALORE - 4



# THE NATIONAL DEGREE COLLEGE, BAGEPALLI

CHICKABALLAPURA DISTRICT, PIN 561 207

Permanently Affiliated to Bangalore University & Re-Accredited 'B+' Grade by NAAC E-mail: nationaldegreecollegebagepalli@gmail.com

occopy 116/28/01/2023 THE NATIONAL DEGREE COLLEGE, BAGEPALLI CHIKKABALLAPUR DISTRICT DEPARTMENT OF LIBRARY Date:28-01-2023 The Librarian, National College, Bagepalli. The Hon. Secretary NES of Karnataka ® Basavanagudi, Bangalore-04. Through, The Principal. National Degree College, Bagepalli-561207 Chikkaballapur Dist.

Dear Sir,

From,

To.

Sub:- Purchase of Library Books for payment regarding:

With regard to the above, I enclose the bills of Rs.43,969/- (Rupees Forty Three Thousand Nine hundred Sixty Nine) only pertaining to the purchase of library books from SRI BOOK WORLD, Gandhi Nagar, Bangalore Bookstall. Kindly pass the bills for payment and thus oblige.

#### Abstract of Bills

S.n	Name of the Bookstall	Bill No. & Date	No. of Books Purchased	Total Amount
1	Sri Book Word, Bangalore	IN/8501-03-01-2023	85	15881.00
2	Sri Book Word, Bangalore	IN/8503-03-01-2023	34	7550.00
3	Sri Book Word, Bangalore	IN/8499-03-01-2023	10	1716.00
4	Sri Book Word, Bangalore	IN/8496-03-01-2023	: 10 "	2321.00
5	Sri Book Word, Bangalore	IN/8497-03-01-2023	4	1131.00
6	Sri Book Word, Bangalore	IN/8494-03-01-2023	43	5324.00
7	Sri Book Word, Bangalore	IN/8498 03-01-2023	08	2192.00
8	Sri Book Word, Bangalore	IN/8491-03-01-2023	34	4228.00
9	Sri Book Word, Bangalore	IN/8500-03-01-2023	6	1384,00
10	Sri Book Word, Bangalore	IN/8495-03-01-2023	9	1747.00
11	Sri Book Word, Bangalore	IN/8618-03-01-2023	4	495.00
-		Total	247	43969.00

Rs. 43,969/- (Rupees Forty Three Thousand Nine hundred Sixty Nine) only.

Thanking You,

GREE COLLEGE BAGEPALLI - 561207

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

# CREDIT BILL/ INVOICE

To THE PRINCIPAL

NATIONAL COLLEGE BAGEPALLI

BAGEPALLI BANGALORE -

IN8501

Dated

03/01/2023

Commerce Dpt

03/01/2023

Order/Challan No : Gr./AWB No & Date :

Dispatch Mode

Document Through

**Packages** 

Weight

Page No. Page 1 of 1

No	ISBN	Author	040252 to 040261	Cur	Qty	Price	Gross	Dis.%	Amount
1	9789395085359		accounting for everyone nep bnu	Rs,	10	165.00	1,650.00	22.00	1,287.00
	9789356930872	parameswa		Rs	10	298.00	2,980.00	22.00	2,324.40
-	9789393931481	PATIL	(Himalayan Publications) BUSINESS STATISTICS II SEM B.COM(NEP) (SS PARAK)	Rs	10	205.00	2,050.00	22.00	1,599.00
	9789356931558	anil kumar		Rs	10	280.00	2,800.00	22.00	2,184.00
5	9789356931206	M N AROR	cost accounting theory problems and solutionsb com 3rd sem bnu (HIMALAYA) 040302 to 040311	Rs	10	290.00	2,900.00	22.00	2,262.00
-	9789354952487	anilkumar	financial accounting b com bnu (HIMALAYA) 040312 10 04031	Rs 1	10	198.00	1,980.00	22.00	1,544.40
1	PGG0088	APPANNAL	MANAGEMENT PRINCIPLES & APPLICATIONS (HPH) 040 322 10	Rs	10	275.00	2,750.00	22.00	2,145.00
3	9789355969897	appannaial	management principles and applications (HIMALAYA)	Rs	5	280.00	1,400.00	22.00	1,092.00
	9788194869009	MOHAMME	Management principles application practice 1 sem B.com &BBA (SKYWARD) 040327 TV 04	Rs 03	10 3 <b>6</b>	185.00	1,850.00	22.00	1,443.00
			. )						
ota	ı			QTY.	85	Gross	20,360.00		15,880.8

0.00

IN WORDS

Rs. Fifteen Thousand Eight Hundred Eighty One Only

Exchange Rates: Rs - 1.00

**Grand Total** 

15,881.00

BANK DETAILS:

BANK NAME:HDFC BANK,K R ROAD, BANGALORE

A/C NAME:SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

**TERMS & CONDITION** 

E. & O. E.

1. Certified that correct Publishers's Price have been Charged.

For

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been sharped 5. Books supplied are in accordance with the order hence will not be taken back.

4. Out Stations should be made by Bank Draft / Payable at Bangalore.

5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.

6. All disputes are subject toBangalore Jurisdiction only.

MANAGER

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

## CREDIT BILL/ INVOICE

THE PRINCIPAL

M/S NATIONAL COLLEGE BAGEPALLI

BAGEPALLI BANGALORE -

IN8503

Dated

03/01/2023

Order/Challan No:

Computer scince Dpt

03/01/2023

Gr./AWB No & Date :

Dispatch Mode

Document Through :

**Packages** 

Weight

Page No. Page 1 of 1

No	ISBN	Author	040337 to 040341	Cur	Qty	Price	Gross	Dis.46	Amount
1	9789355969545	rathod	data structures 1st sem bca bcu (VISION) 040 342 to 040346	Rs .	5	320.00	1,600.00	22.00	1,248.00
-	9789355968739	girija	fundamentals of computers bca 1st sem (HIMALAYA) 040343-10 0 40	Rs 351	5	340.00	1,700.00	22.00	1,326.00
3	9789395085373	srikanth	fundamentals of computers bca 1st sem nep autonomus (SKYWARD)	Rs	5	250.00	1,250.00	22.00	975.00
4	9788194909651		I SEM PROGRAMMING IN C'(SUNSTAR'	Rs	4	295.00	1,180.00	22.00	920.40
5	9788195756001	MURUGAN	PUBLISHER) 040 355 70 00 object oriented programming with java 2nd sem bca nep (SUNSTAR)	₹8°-	10	275.00	2,750.00	22.00	2,145.00
6	SUB0063	rama	programming in c 1st sem bca (SUBHASH)	Rs	5	240.00	1,200.00	22.00	936.00
			040366 to 040	37	0				
			*						
							•		
			9		-				
			. 1	,					
nta	.1		•	QTY.	34	Gross	9,680.00		7,550.4

0.00

IN WORDS

Rs. Seven Thousand Five Hundred Fifty Only

Exchange Rates: Rs - 1.00

**Grand Total** 

7,550.00

BANK DETAILS:

BANK NAME:HDFC BANK,K R ROAD, BANGALORE

A/C NAME: SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

1. Certified that correct Publishers's Price have been Charged.

**TERMS & CONDITION** 

E. & O. E.

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been charged supplied are in accordance with the order hence will not be taken back.

- 4. Out Stations should be made by Bank Draft / Payable at Bangalore.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.
- All disputes are subject toBangalore Jurisdiction only.

For SRI BOOK-

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

CREDIT BILL/ INVOICE

To THE PRINCIPAL

**NATIONAL COLLEGE BAGEPALLI** M/S

> **BAGEPALLI** BANGALORE -

NO.

IN8499

Dated

03/01/2023

Mathematics Dpt

03/01/2023

Order/Challan No : Gr./AWB No & Date :

Dispatch Mode

Document Through Packages

0

Weight

Page No. Page 1 of 1

No	ISBN	Author	040371 TO 04077	Cur	Qty	Price	Gross	Dis.%	Amount
1	SUB0501	GURURAJA	MATHEMATICAL FOUNDATION 1ST BCA BNU SND TUMKUR UNIVERCITY (SUBHAS)	Rs	5	180.00	900.00	22.00	702.00
	9789356930674	I	mathematical foundation bca 1st sem (HIMALYA)	Rs	5	260.00	1,300.00	22.00	1,014.00
			040376 to 04038	0					
			1 4						
				#1 2019			,		
			· × ×				ps I		
ota	al			QTY.	10	Gross	2,200.00		1,716.0
	ODDS Ba Oa	_		. 13					0.00

IN WORDS

Rs. One Thousand Seven Hundred Sixteen Only

Exchange Rates: Rs - 1.00

**Grand Total** 

1,716.00

BANK DETAILS:

BANK NAME: HDFC BANK, K R ROAD, BANGALORE

A/C NAME: SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

**TERMS & CONDITION** 

E. & O. E.

1. Certified that correct Publishers's Price have been Charged.

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

sharped 3. Books supplied are in accordance with the order hence will not be taken back.

4. Out Stations should be made by Bank Draft / Payable at Bangalore.

5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.

6. All disputes are subject toBangalore Jurisdiction only.

For

MANAGER

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

**CREDIT BILL/ INVOICE** 

To THE PRINCIPAL M/S

NATIONAL COLLEGE BAGEPALLI

BAGEPALLI BANGALORE - NO.

IN8496 Physics Dpt

Dated 03/01/2023

03/01/2023

Order/Challan No: Gr./AWB No & Date :

Dispatch Mode

**Packages** 

Document Through :

Page No. Page 1 of 1

No	ISBN	Author	040381	TITLE OHO 385	Cur	Qty	Price	Gross	Dis.%	Amount
1	OMK0069	BASAVARA	B SC PHYSICS	ISEM MECHANICS AND OF MATTER (OMKAR)	Rs	5	325.00	1,625.00	22.00	1,267.50
	9789386550910	MANJUNAT	SMART PHYSIC	S III SEM B SC WAVE PPTICS (SUNSTAR)	Rs	.5	270.00	1,350.00	22.00	1,053.00
			040386	ю оно 390						
			•	•3	1.					
							2	·		
			. ,			3 .	-			
ota	l		. ,		QTY.	10	Gross	2,975.00		2,320.5

0.00

IN WORDS

Rs. Two Thousand Three Hundred Twenty One Only

Exchange Rates: Rs - 1.00

**Grand Total** 

2,321.00

BANK DETAILS:

BANK NAME:HDFC BANK,K R ROAD, BANGALORE

A/C NAME:SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

**TERMS & CONDITION** 

E. & O. E.

1. Certified that correct Publishers's Price have been Charged.

For

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

sharged supplied are in accordance with the order hence will not be taken back.

4. Out Stations should be made by Bank Draft / Payable at Bangalore.

5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.

6. All disputes are subject toBangalore Jurisdiction only.

PMANAGER

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

# **CREDIT BILL/ INVOICE**

To THE PRINCIPAL

M/S NATIONAL COLLEGE BAGEPALLI

BAGEPALLI **BANGALORE** - NO.

IN8497

**Dated** 

03/01/2023

**Botany Dpt** 

0

03/01/2023

Gr./AWB No & Date :

Dispatch Mode

Order/Challan No:

Weight

Document Through **Packages** 

Page No. Page 1 of 1

No	ISBN	Author	OHO391 TITLE OHO392	Сиг	Qty	Price	Gross	Dis.%	Amount
1	9789355965103	SUNDAR R	BOTANY B SC 1ST SEM MICROBIAL DIVERSITY AND TECHNOLOGY	Rs	2	275.00	550.00	22.00	429.00
-	9788121935692	VASHISHT.		Rs	1	550.00	550.00	22.00	429.00
3	9788121901451	PANDEY	PLANT ANATOMY (S CHAND)	Rs	1	350.00	350.00	22.00	273.00
			O4039H						
							,		
			. ,	4					
_	al		. ,	QTY.	4	Gross	1,450.00		1,131

0.00

IN WORDS

Rs. One Thousand One Hundred Thirty One Only

Exchange Rates: Rs - 1.00

**Grand Total** 

1,131.00

BANK DETAILS:

BANK NAME: HDFC BANK, K R ROAD, BANGALORE

A/C NAME: SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE;HDFC0000875

**TERMS & CONDITION** 

E. & O. E.

For

1. Certified that correct Publishers's Price have been Charged.

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

Sharped supplied are in accordance with the order hence will not be taken back.

- 4. Out Stations should be made by Bank Draft / Payable at Bangalore.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.
- 6. All disputes are subject toBangalore Jurisdiction only.



M/S

#### SRI BOOK WORLD

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

# **CREDIT BILL/ INVOICE**

To THE PRINCIPAL

NATIONAL COLLEGE BAGEPALLI

BAGEPALLI BANGALORE - NO.

**Packages** 

IN8494

Dated

03/01/2023

Histroy DPT

03/01/2023

Order/Challan No: Gr./AWB No & Date :

Dispatch Mode Document Through

Weight

Page No. Page 1 of 1

		The English	- Level of the lev	100		William Ca			
No	ISBN	Author	050395 TO 040397	Cur	Qty	Price	Gross	Dis.%	Amount
1	9789354562099	CHAITRA	BHARATADA SAMSKRUTHIKA	Rs	(3)2	JU170.00	510.00	22.00	397.80
-	9789391429218	HUGAR	PARAMPARE I SEM BA NER (SAPNA) BHARATADA SAMSKRUTIKA	Rs	4	165.00	660.00	22.00	514.80
3	BHA0036	SALIMATH	PARAMPARE 1ST BA MEP (SS) U BHARATHADA RAJALIYA 1THIHAS	Rs	3	300.00	900.00	22.00	702.00
4	BKS51104	RAMESHB/	DSC-5 (BHA) DIOHO 7	Rs	3	140.00	420.00	22.00	327.60
5	9789354561313	CHAITRA	PARAMPARE 15T BA (\$5)0412 RAKNATAKA RAJAKEEYA ITHIHASA	Rs	43	125.00	500.00	22.00	390.00
6	BHA0039	SALIMATH	DSC 1SEM (SAPNA) OLO 417 KARNATAKA SWATANTRYA CHALUVA	⊔ Rs	5	110.00	550.00	22.00	429.00
7	9789391429881	HUGAR	(BHA) 118 +0 040492 KARNATAKADA RAAJAKIYA ITHIHASA BA 15T SEM NEP (SS)	Rs :	5	140.00	700.00	22.00	546.00
В	9789354562242	KNA	KARNATAKADA RADAKEEYA ITHIHAS	A Rs	(§)4	d ¥25.00	625.00	22.00	487.50
9	BKS501621	SALIMATH	DSC 15EM (SAPNA) 040430 RAKNATAKADA RAJAKIYA 1THIHASA	Rs	3	300.00	900.00	22.00	702.00
0	BKS511857	SALIMATH	NEP (SS) 1 10 0 HOU 33 KARNATAKADA SAMSKRUTHIKA	Rs	3	170.00	510.00	22.00	397.80
1	9789393931009	HUGAR	THIHASA 1ST BA (SS) 10 13 8 KARNATAKDA SAMSKRUTHIKA ITHIHASA 2ND SEM BA NEP (SS)	Rs	(S)	110.00	550.00	22.00	429.00
nta	nl		<del></del>	QTY.	43	Gross	6,825.00		5,323.5

0.00

1.

IN WORDS

Rs. Five Thousand Three Hundred Twenty Four Only

Exchange Rates: Rs - 1.00

**Grand Total** 

5,324.00

BANK DETAILS:

BANK NAME:HDFC BANK,K R ROAD, BANGALORE

A/C NAME:SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

TERMS & CONDITION

E. & O. E.

For

1. Certified that correct Publishers's Price have been Charged.

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

charned 5. Books supplied are in accordance with the order hence will not be taken back.

4. Out Stations should be made by Bank Draft / Payable at Bangalore.

5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.

6. All disputes are subject toBangalore Jurisdiction only.

MANAGER

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

## CREDIT BILL/ INVOICE

To THE PRINCIPAL

M/S NATIONAL COLLEGE BAGEPALLI

BAGEPALLI BANGALORE - NO.

IN8498 Zoology Dpt Dated

03/01/2023

9

03/01/2023

Order/Challan No : Gr./AWB No & Date :

Dispatch Mode

Document Through

Packages :

Weight (

Page No. Page 1 of 1

No	ISBN	Author	OHOUSA TO OHOUAL	Cur	1. 1	Price	Gross	Dis.%	Amount
1	9788171337198	GUPTA	MOLECULAR BIOLOGY AND GENETIC	Rs	(3)1	395.00	1,185.00	22.00	924.30
	9789354955549	VIMALA C.	ENGINEERING (BASTOGI) 2001.0GY FOR I SEMESTER , BSC (HIMALAYA)	Rs	5	325.00	1,625.00	22.00	1,267.50
			*						
			s w <sup>a</sup>						
							,		
			* /	ي	15				
nta	nl		<del>- )</del>	QTY.	8	Gross	2,810.00		2,191.8

0.00

IN WORDS

Rs. Two Thousand One Hundred Ninety Two Only

Exchange Rates: Rs - 1.00

**Grand Total** 

For

2,192.00

BANK DETAILS:

BANK NAME:HDFC BANK,K R ROAD, BANGALORE

A/C NAME:SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

**TERMS & CONDITION** 

E. & O. E.

- 1. Certified that correct Publishers's Price have been Charged.
- 2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

sharped supplied are in accordance with the order hence will not be taken back.

- 4. Out Stations should be made by Bank Draft / Payable at Bangalore.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.
- 6. All disputes are subject toBangalore Jurisdiction only.

SRI BOOKUMOR DO Ph: O 26624904 TO 26608965 TO 1205679

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

# CREDIT BILL/ INVOICE

To

NATIONAL COLLEGE BAGEPALLI

BAGEPALLI BANGALORE -

IN8491

Dated

03/01/2023

Order/Challan No:

B.A Poltical scince Dpt

03/01/2023

Gr./AWB No & Date :

Dispatch Mode

**Packages** 

**Document Through** 

Weight

Page No. Page 1 of 1

No	ISBN	Author	NO 497	TITLE	Cur	Qty	Price	Gross	Dis.%	Amount
1	9789393931320	PATIL	BHARATADA	SARAKARA AND	Rs	3	295.00	885.00	22.00	690.30
,	bha0048	vidy <b>a</b> sagar	bhafathada r mathu kalaji	SEM BA (NEP) (SS PARK) ajakiya samsyegani 1 (BHA)	Rs	الا	du 95.00	475.00	22.00	370.50
3	9789393931382	PATIL	HARBAN SOVI	NMENT & POLITICS	Rs	1	260.00	260.00	22.00	202.80
4 5	BKS499331 BHA0040	VIDYASAG	MANAVA HAK	KUGALU NEP (SS)	Rs	5	120.00	600.00	22.00	468.00
٦	DHAUU4U	VIDYASAG	2ND SEM BA	RAJAKEEYA CHINTANE	Rs	(5)4	d 9 60.00	800.00	22.00	624.00
6	9789393931016		2ND SEM (CC	YA RAJAKIYA VIVECHAN	Rs	6	1d V 180.00	900.00	22.00	702.00
7	BKS501624	VIDYASAG	RAJAKIYA SIL	DANATH NEP 755Y	Rs	5	140.00	700.00	22.00	546.00
8	BKS499330	VIDYASAG	MOOLAPARIK	ALANEGALU NEP (SS)	Rs	5	160.00	800.00	22.00	624.00
								,	11 2	
			, ,	,	7					
ota	il				QTY.	34	Gross	5,420.00		4,227.6

0.00

IN WORDS

Rs. Four Thousand Two Hundred Twenty Eight Only

Exchange Rates: Rs - 1.00

**Grand Total** 

4,228.00

BANK DETAILS:

BANK NAME:HDFC BANK,K R ROAD, BANGALORE

A/C NAME:SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

**TERMS & CONDITION** 

E. & O, E.

1. Certified that correct Publishers's Price have been Charged.

For

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

sharpeds supplied are in accordance with the order hence will not be taken back.

- 4. Out Stations should be made by Bank Draft / Payable at Bangalore.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.
- 6. All disputes are subject toBangalore Jurisdiction only.

Developed & Designed By Spring Time Software Contact Us: 25920788 / 45091750

12 100 Du

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

# CREDIT BILL/ INVOICE

To THE PRINCIPAL

**NATIONAL COLLEGE BAGEPALLI** M/S

> BAGEPALLI BANGALORE -

NO.

IN8500

Dated

03/01/2023

Chemistry Dpt

03/01/2023

Gr./AWB No & Date :

Dispatch Mode

**Packages** 

Document Through

Order/Challan No :

Weight

Page No. Page 1 of 1

No		Author	OHOUS LO	Cur	Qty	Price	Gross	Dis.%	Amount
1)	9789355013668	VANISHRE	MATHEMATICS FOR B SC 1ST SEM (S CHAND)	Rs	1	299.00	299.00	22.00	233.22
	9788195756032	MAHESHA	SMART CHEMISTRY III SEM B SC (SUNSTAR) OLO480 +0 OLO486	Rs	5	295.00	1,475.00	22.00	1,150.50
			¥						
			· · · · · · · · · · · · · · · · · · ·						
							,		
			· ,		;	7			
ota	ıl			QTY.	6	Gross	1,774.00		1,383.7

IN WORDS

Rs. One Thousand Three Hundred Eighty Four Only

Exchange Rates: Rs - 1.00

**Grand Total** 

1,384.00

0.00

BANK DETAILS:

BANK NAME:HDFC BANK,K R ROAD, BANGALORE

A/C NAME:SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

1. Certified that correct Publishers's Price have been Charged.

TERMS & CONDITION

E. & O. E.

For

2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

sharped. Supplied are in accordance with the order hence will not be taken back.

4. Out Stations should be made by Bank Draft / Payable at Bangalore.

5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.

All disputes are subject toBangalore Jurisdiction only.

SRI BOOK WORLD

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph: 080 26608965, 26624904, 41205679 E-mail: sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

#### CREDIT BILL/ INVOICE

To THE PRINCIPAL

M/S NATIONAL COLLEGE BAGEPALLI

BAGEPALLI BANGALORE - NO.

IN8495 conomics Opt

Dated

03/01/2023

03/01/2023

Order/Challan No : Gr./AWB No & Date :

Dispatch Mode Document Through

**Packages** 

1

Weight

0

ge No. Page 1 of 1

No	ISBN	Author	040 485	Cur	Qty	Price	Gross	Dis.%	Amount
1	MYS0014	KRISHANAIA	BASIC ECONOMICS (MYSORE BOOK	Rs	· 1	220.00	220.00	22.00	171.60
2	9789354562877	KRISHNAIAH	HOUSE) & 40 440 CONTEMPORARY INDIANTEONOMY 4 08492 FOR 2ND SEM BCOM NEP (SAPNA)	85	5	260.00	1,300.00	22.00	1,014.00
3	9 <b>78</b> 8191087338	H R KRISHN	Pre reforms india economy NEP 1 SEM B.A (Vidyanidhi Prakashana)	Rs	3	240.00	720.00	22.00	561.60
			040493 to 04049						
			4 , 5						
						. ,			
			· ·						
			<i>y y</i>		<b>4</b>				
			3						
								100	
ota			•	QTY.	9	Gross	2,240.00		1,747.

0.00

IN WORDS

Rs. One Thousand Seven Hundred Forty Seven Only

Rs - 1.00

**Grand Total** 

1,747.00

Exchange Rates :
BANK DETAILS:

BANK NAME: HDFC BANK, K R ROAD, BANGALORE

A/C NAME:SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

#### TERMS & CONDITION

E. & O. E.

For

SRI BOOK WORLD

Certified that correct Publishers's Price have been Charged.
 Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

charged 3. Books supplied are in accordance with the order hence will not be taken back.

- 4. Out Stations should be made by Bank Draft / Payable at Bangalore.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.
- 6. All disputes are subject toBangalore Jurisdiction only.

MANAGER

No. 9, Gandhi Bazar Main Road, Basavanagudi,

Bangalore -560004, Karnataka, India

Ph : 080 26608965, 26624904, 41205679 E-mail : sribookworld@gmail.com

GST IN:29AAWFS6666A1ZK

# CREDIT BILL/ INVOICE

To THE PRINCIPAL

NATIONAL COLLEGE BAGEPALLI

BAGEPALLI BANGALORE - NO.

IN8618

YOUR ORDER

Dated 24/

24/01/2023

24/01/2023

Gr./AWB No & Date :

Dispatch Mode

Document Through Packages

Order/Challan No :

0

Weight

0

Page 1 of 1

No	ISBN	Author	040 4 9 6	Cur	Qty	Price	Gross	Dis.%	Amount
1	9789391429133	JOSHI	BHARATADA BADALAGUTTIRUVA SAMAJIKA SAMSTEGALU 1ST BA NEP	Rs	1	160.00	160.00	22.00	124.80
2	9789383427963	SHANKAR RA	(SS) OCO 497 DAINANDINA JEEVANADA	Rs	1	165.00	165.00	22.00	128.70
3	9789354561238	VEENA RANI	SAMAJASHASTRA (Jai Bharath) LINGA VYAVASTEYA PARIDHIYALLI 90 498 SAMAJA 25EM BA (SAPNA)	Rs	1	185.00	185.00	22.00	144.30
4	9789354561221	ADINARAYAN	SAMAJASHASTREEYA SIDHANTHA ADIGALLUGALU 2 SEM BA NEP	Rs	1	125.00	125.00	22.00	97.50
			(SAPNA) 040 499		7				
							,		
			,		10				
			2 2		٠	}			
			,						
Tota	1			QTY.	4	Gross	635.00	1 1	495.

Total

0.00

IN WORDS

Rs. Four Hundred Ninety Five Only

Exchange Rates :

Rs - 1.00

**Grand Total** 

495.00

BANK DETAILS:

BANK NAME: HDFC BANK, K R ROAD, BANGALORE

A/C NAME:SRI BOOK WORLD

CURRENT A/C NO: 08752320000103, IFSC CODE:HDFC0000875

TERMS & CONDITION

E. & O. E.

For

SRI BOOK WORLD

- 1. Certified that correct Publishers's Price have been Charged.
- 2. Latest Ed of books have been Supplied & current Conv. Rates as Appd. by GOC have been

charged supplied are in accordance with the order hence will not be taken back.

- 4. Out Stations should be made by Bank Draft / Payable at Bangalore.
- 5. Interest @ 18% per annum will be charged if the bill is not paid within mentioned period.

All disputes are subject toBangalore Jurisdiction only.

MANAGER